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Solar system as “sandwich or cell” theory,
and extend of “law of universal gravitation”
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Regarding “why sun and his planets were limited on one
plane?”,there is one answer on Baidu website,based on how solar
system was created from mixed status of dust,...but it’s not the right
answer, we ask how it keep in one plane,and it answer how it was
created. Many astrophysics was based on speculate, but lack of

evidence,so as this theory.
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Speculation 1: based on “law of universal gravitation”, all things
with “mass” were attract each other,then what happen if there is
anything with negative “mass”, it must be repulsive with positive

“mass”. This is extend of “law of universal gravitation”.
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Speculation 2:
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A: Regarding “why sun and his planets were limited on one plane?”,

Based on dynamics,it can’t be keep by attactive forced, it’s easy to

Be broke this balance by any collision from the universe
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B. in case we assemble two planes on top and on bottom of the
plane of “sun and its planets”, and their material is made of
“negative mass”,just as said as Speculation 1, then it pefectly
explained “why sun and his planets were limited on one plane?”, it
(“sun and its planets”)was repulsive by the up and down planes to
keep on this plane. Just like “sandwish”, was clamped in the
middle.
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C.based on B,the “sun and its planets” may not go up and
down,now it will slip to “front” “back” “left” “right”, I'm don’t think
it will go that ways,because it will be sealed by the same “negative
mass” in these directions. Like a “cell”. Now it explain well for the
topic. Even the planets was collide by any other things, it will come
back to the right orbit under the attrative force of sun and repulse

force of the cell finally. and all the activities of sun and its planets



were limited in the middle of the “cell”,And the universe was made

of these “cells”.




